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6.3 Operations with Polynomials

monomial - a number, a variable, or a product of numbers
- - 2 z
and variables —Y4 ) Y, = A b coefcient
constant - a monomial with no variables =-
coefficient - the numerical factor in a monomial 6)(
degree of a monomlal the sum of the exponents f its variables

""y des =3 7_0L b d:ﬂeZM-H
polynomial - a monomial or a sum of terms that are monomials
binomial - a polynomial with two terms

trinomial - a polynomial with three terms
degree of a polynomial - the same as that of its term W|th the

70«3*%,___9&” greatest degree 3)(9 5)( Y H)le

\b \ O = ¥ 29 ¢
‘@ he (ngé deg= deg uz dvrﬂ.g lm

oare cnmm ntme 0

CLASSIFICATION OF POLYNOMIALS BY DEGREE

CDEGREE D NAME EXAMPLE
0 Constant —-29
1 linear 2x—5
2 anadratic | =3x*+2x -3
3 cubic 9x>—I0x
4 quartic | =5xex-2x+9
5 guintic | x5 —exz +2
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ighest — |owest
EXAMPLE: Rewrite each polynomial inig‘sgenecﬁng order.

Then classify each polynomial by itsand
@umber of term®
1. 2C- 8K -4
—UxP32x Z —ex
Aduartic trinomial

2. —){+}6¢
02— 2X
cubic binomial

3. A+ +74-6
- x4 4 ox—0
quintic \ool\lmm'm'

To add and subtract polynomials, combine like terms.
Write your answer in standard form, which is with the

exponents in{ldescending)order of degree.
4. Find the sum.

(:2x7= 3x7+ 5x(+ 4) + [-2x°|+ 7:{- 6}
—5x> —2x*+ 1Zx =72

5.Find the difference. |
[6x] - 6x° + X T)+{13xd 532 8l
-9x? <Ix*+ 2% =9
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6. {2+ 4x3 + 5%

-2

+ (-2%")- 7x* + 8X

- 10

I —Fy* + 2% —)2

7. 3xTC 12x?- 5x

+1

-+ fix] £ 5x(F 8

x> <11X% - 10x =+

8. Multiply (x - 2)(5x° + 3x - 4).
oY~
(x> +3x =) -2 (Bx*+3x — 1)
2 —
5% + 5x* —Hx DXt —ex + &

Sx> —Fx* —I0x + &

February 12, 2024
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9. Multiply (x - 1)m).
()(-—h(x" —3x +2x -—6)
(x=D) (X =I1x —¢)
Lok 26) O (k= 1x=0)
N e
x> _9x%2 —=5X + 6

10. Multiply (x + 4)°. Foll
(D) (e (- 1)

(x+ W) ( X2+ U+ U+ )by
(x+ )(x* + 8x + 1b)

T o~
X (X2 BxEi6) +1 (X2 F8x 19

X3P K2 HIGX LU € 30X + Y

x3 + 12x* +48X + @4
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Cube of a Binomial
(a+b)’=a’+3a’b+3ab’°+b’

(a-b)’=a’-3a’b+3ab*-b’

11. Multlply(@ [)ZEI)?'
5 ~942b + 3db* — bg

(-43@ 3OAF) +360E) — ()

G —3065X7) + 3HnEa) — s
b — 226p> + 5%b — 343

12. Multiply By-+BY.
(Q\f’ +%a*b + 3ab* + b3
)+ 3GV ()36 EF+ (B
125y + 325y XA+ 3GE)NG@) + 27
125y> + 225y% 4 135y + 1%
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